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Functionalism & Family Key-Words
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Across 18. Which function is this? - how we 7. A theory suggested by parsons
4. One of the emerging needs of teach society's shared norms and that suggest family adapts to the
industrial society - could move from values current needs of society
villages to busy cities for work Down 8. Society is made up like the body
9. Who argued that the functions 1. Murdock found family exist in 10. Evaluative term that
of the family are whatever all societies therefore is a... functionalism is too positive
functionally fits’ societies needs at 2. A family which contains a 11. Who argued that the family has
the time heterosexual couple with their four functions?
13. Functionalism is a type of this traditional roles and their children 12. Which function is this? - The
theory 3. one of the irreducible functions family helps to create stable
14. Which function is this? - by Parsons - where children learn monogamous relationships for life
child-bearing is possible and helps their gendered norms 15. Which function is this? - allows
create the next generation 5. Societies needs are met with for basic needs to be met e.g. food,
16. Another emerging need of an everyone having their norms and shelter
industrial society - where members  values 17. Another irreducible function -
must be able to become structurally ¢, Which society did Parsons say stabilisation of adult personalities
isolated from kin to achieve status  peeded the extended family where adults come home to a...
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